FRENET 7 (5 9 B3R

BEESRINZNRE
=lke BAXEZBREBTRSZERE
1 A
H B & #w () i i
HBHTRE R 6, 872, 580
= 5, 400, 000 4 F 150,000 @ X3 A=450,000 M
5H 150,000 B %3 A=450,000 1
6 B 150,000 [ X3 A=450,000 M
78 150,000 M X3 A =450,000
8 4 150,000 [ X3 A=450,000 M
9 A 150,000 9 X3 A=450,000 1
1048 150,000 H X3 A=450,000 4
118 150,000 4 X3 A=450,000 9
124 150,000 X3 A=450,000H
1A 150,000 & X3 A =450,000
2 A 150,000 1 X3 A =450,000
3 A 150,000 9 X3 A =450,000 [
HEHBE S 1, 472, 580 |6,060 %243 A X1 A
MEIA 7, 924
B R 7, 906 | EERMBAES
He&ME 18
FOfth 0
i 6, 880, 504




X
H E| #w (B
FREFER 0
T 0
A4 AN 0
v BREMN 0
T TEH 0
A EEELER 0
J1 EREITE R O 0
X HIR# 0
7 EFEE 0
o BEERE 0
a ZOMEE 0
THER 0
T 25, BEEERE 0
A ERTHE 4 0
v ERRE 0
* REH 0
A EnRgE 0
% EEERE 0
¥ fe# 0
7 SBRFBOZHE 0
o FEFAM 0
a FOMpEE )
1% 2, 526, 606
T REBER O EEANE 1, 858, 802
A EEERE 543, 744
v 25, BHSERE 26, 960
L RS- UOERE R CESE 92, 260
F FEFN 0
b L ¢ _ 0
¥ FOMRE 4, 840
KR 125, 288
T =Y, SMEEAN 0
A4 B ERE 99, 658
7 RETFR 0
T EIRE 25, 300
A FoMRR 330
i - PR EE® 0
7 HIR#E 0




A BIEERE 0

v RE 0

T FOMBER 0

Er 0
7 SBR 0

A ERIE 0

v RE 0

. R{EERE 0

F =8 0

B FOMRE 0
ERHERE 985, 526
7o E— R 71, 874

A FlRIE 178, 236

v ZEREE 0

T EHREREHIL 0

A BREMR 0

P AV ENE T L 7 YN 0

X RV arFEEHERERY—AE 693, 264

7 FOMEE 42, 152

B R 349, 848
7 HER 23, 108

A FEROMEEETR ‘ 203, 068

v R — & — 2 F 0

T EOMERHEAR 123, 672
N# 2, 380, 746
T e 2, 017, 256

A st REE 355, 821

v FOMRE ' 7, 6869
EBHE 0
T EBETOBEERRUHERETER 0

14 FRRUCHEGEHBEOBAREVY —X 0
=B 266, 908
T EERAMEAR 58, 086

A EfEERE 65, 614

v A H—Fy FTasA FERB 11, 208

T FEHEER OURST AR B R CMEREE 132, 000

A FoOMEH 0

7t 6, 634, 922

3 MMAZXMHERIME (NA—ZH) ‘ 245, 582

BEHEEE KE o



